.\
= S



UNIT:MM

X
22

8,

]

M6*35
UNIT:MM

01

M4*12

73%25

® 12%*1

==
@ )
\ o
I
- ? \/ ,
D 5%22 O 5*28%*19 O 5*28*19 M3. 5%12 16*%45%14 35*%12*%1 60%16.5%1.5
X X X X X
5 14 10 4 2
=\
8%

i 7 4

M4*12 M3*14 10%10 M5%40 ® 7. 5%45 ¢ 25%25 160%14%*5

e



BOLT INSTALLATION AS BELOW:

ﬁ BOLT

@ CONNECTING PIECE

Adjust connecting piece direction if  Insert bolt when connecting piece

condition as illustrated under such condition

02



03



04

10.
12.

Stand:05.2024







06

Stand:05.2024



31.

07



N
™

A

|

T

R

08



